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question 1[n30.fnwopﬁm=ndven.urédlhamhﬂnwredm.
mm:ﬂawﬂ. Shade the comect oval (1, 2, 3 or 4) on the Optical Answer

60 marks]

i

B
A + water ———————» sugar + C
sunfight

\Which of the following shows the correct representation of A, B and ©7

B
@ air green plants. -~ water vapour
@ | carbon dimdde ‘chiorophyil oxygen
& Sxyoen = M\!‘“ carbon dioxide
[ZT) carbon dioxide _ stomata ‘waler vapour

2. Study the food web below carefully.
praying mantis

- |
plant ___pmpper_______’m

!

eagle

Which animal cbtains the most amount of energy from the food it eats?

{Go on to the next page)
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Mwﬂmﬂmmmmmmmmumm .
Ten worms were put in @ box which is divided into two separale parts, Part X and Part

¥, as shown in the diagram below.

opening A

- */'é. black cloth”™

SSRGS |

1
moist cotonwool  silica gel (to absorb water)

5 live worms

wire netfing

The live worms could move from Part X to Part Y through a small opening at A. After
some time, it was observed that all the worms hawve movedinto part X.

Which of the following set-ups would you use to find out how worms respond to light?

(Go on to the next page)

0] (2)
What do A, B and the above i
Substance A Substance B System(s) |
() | digestedfood | undigested food | digestive and ciroulatory systems | 'l'
) | cabondioxide | _oxygen | cicutorysystems |
) | undigestedfood | digested food digestive and circulatory systems |
|  oxygen carbon dioxide i __ digestive system T i
) cottonwool  cotton cotton gel
ﬁ?mm&wwmw%mdmmmmmmmmm . =
Which of the following statements are true? from each ’ :
@) )

i A ‘I'hespldemtabmddﬁasdmhem glass o " Clack chth o clear
B:  The spider crab gives the algae a piace to live in. - N 'f 4 "! s glass L L2 glass
C:  The algae provide camoufiage for the spider crab. -

D:  The algae absorb nutrients from the spider crab unifl it dies. ]_ -I~

{1} AandC ' —‘@J—ESTQ" oot —-
(2 AandD . B
& S cotbnwool  cotln sl si@ 08l cotton wool
4 BandD

{Go on to the next page)
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6. Agroup of students . )
e g counted the erganisms found in 2 pond, The resulfs are shown ; FQRmﬁSmmmmdmmmpwum

AE P and R were p d in A B. Ani Q, Rand
- swam d in Ay C. Some plants were placed in each of the
MNumber of organisms . The ber of in h rarium was counted weekly and

sqlnrﬁm
) represented in the graphs shown below.

Aquarium B

= N W s O o &
T

- Time
floating partiafly  submerged nolegs  twolegs six legs
b Plants T - Animals - =
mammﬁgmmwmmmmm
Az There are 12 populations of plants.
B:  There is only one pond community,
C:  There are at least three populations of animals.
D: Al the animals with no legs belong to one population.
(1) AandB .
& Banto i From the graphs above, which of the following correctly shows the most ikely food
3 ABandC chain finking the four animals?
(4) B,CandD - (1) Plantt>P3R>S3>Q

(2) Plans3>R>P3>S3>0Q
(3) Plants>Q>P->R->8S
4) Plans3>R->P-3>Q-3S

{Go on to the next page)
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8. ﬂwmbﬂmﬂm srimuhrrmmm Diagram Y shows the 8.  The chart below shows human aclivities which have negative impact on the earth,
mhmmmzmmmhaw

I;mvfmdm. ] _ [ Exposed sotis vuinerabie _mm]

Which one of the foll
as shown above?

To escape from hunters

2) To confuse the predators from To fadiliate easier communication
.| identifying one to target at with each other for food Which of the following shows the comrect representation of A, B, G and D?
(3) To make it more difficult for Toemﬂa&unhmrmeasnyh A B c D
predaters to caplure them a longer period of time
% Global warming Greenhouse Buming of fossil Sofl erosion
(4) To make loud noise with their To invile more animals to join in the m Effect fuels
[ ‘o scare pr  away formation £
@) Deforestation | Buming of fossil | Global warming | Soil erosion
- fuels
N 3) G L Global g Deforestation Buming of fossil

(Goonmllnr_mdpage:l




10. ﬁﬂdmahag.msdaofw i, with cok Sugar solution. She then
WHMMMQhMBMmMMmm
the bag ino a glass container filled with yellowish-boown iodine solution.

Which of the following statements about the parts of the plant are comect?

A:  The stemn helps the plant remaln upright.
B:  The roots take in foed and water from the soil.
C: The rocts spread out to reach for water and minerals.
After seven hours, the sugarsolution in the tumed D Thel oo W e
lution in the glass ‘un:g:pl. arkc biue. Howsver, the fodine
What could be concluded from the experiment above? (D). Aand G coly
(2 A BandConly
{1) ‘The bag does not allow the sugar solution to pass through. (3) A, CandD only
(2) Theiedine solution is able to pass through the bag and mix with the sugar (4) AN of the above

{3) Thawsﬂﬁnaaﬂehpmwhbqwmm“m

@ mm&ammm&mmmmm

(Goonbuaenmm;



s S R Hoe - ) 12
12 The below ’ ‘ ;
diagram shows how blood is ransported around the body. 13. The flow chart shown bélow describes parts of the human male and female
reproductive system.

S EEE 0
ina 2 !
unl )

Part A Part B PartC D

Sased on the disgram above, idenlily the type of blaad indicated by the amows, A, B, m ©09 testes uterus it
@ testes egg penis. uterus

A B _ c D @ ovary sperm vagina Pents

() | Richinoxygen | Richinoxygen | Foorinomgen | Poorin oxgen @ ovary testes penis vagina

{2 Rich in oxygen Poor in oxygen Rich in oxygen Poor in oxygen
Poor in oxygen

Rich in oxygen

(Go on to the next page)
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14, The diagram below shows a type of fiower planted in Ben's garden.

removed.

mmmmmammmvwzmmm He
. then scattered equal amount of similar pollen grains onto flowers X, Y and Z ‘
observed them some time. * o

mqmmﬁmwmmmmam

m
@
3
4y

¥ and Z only
Xand ¥ only
X and Z only
X, Yand Z

(Go on to the next page)

15.

the

14

as shown below.

Study the diagrams
Which of the following show the life cycles

[]

TN
young plant -

\mm S

(B8)

)

mmm\

young mushroom «—— spores
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" For each question from 16 to 30, four options are given. One of them is the comect answer. .

Sheet
Study the i d answer s 16 and 17.
Wmsmm ball. As aresult, a dent was created as

accidentally
shicwn in the diagram below. Susan inspected the ball and ob&erved that it was not
bréken and there ware no holes on it

Make your choice (1, 2, 3 or 4). Shade the comect oval (1, 2, 3 or 4) on the Opfical Answer
provided.

Which of the following cormectly shows the changes In the table tennis ball bafore and

after it was stepped on?
Bafora Adftar_
Mass of table Volume of air Mass of lable Volume of air in
tennis ball (g} in table tennis | tennis balf (g) table tennis bail
ball {cm®) (cm®)
«) | 2.5 8 25 8
2 25 8 25 76
@ 2.5 8 2 8
{4) 2.5 8 2 7.5
17. then pk d the table tennis ball into a beaker of hot water, She
observed that # became round again.
i
§ “if
t o5 '|

I hotwaler

Which one of the f« g her observation?

The table tennis ball lost heat to the hot water and expanded:

The siir inside the table tennis ball gained heat and expanded.”

The heat from the hat water caused the table tennis ball to harden.

The hot water in the beaker exerted a farce on the outer wall of the table tennis
ball.- =

{Go on o the next page)
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18. -mh@wwmmﬁmhummmhm ’ - ’ ; s shown in the diagram below fo move a water wheel.
-7 were cut, the balls dropped and created a dent in the tray of flour. She 19 Jacksetopen Spaivient 4 e o #
then measured tha depih of each dent.

- Which of the following predictions isfare comect if Jack werne to raise the support for
Four students made some based on jhe experiment sbove. the tin to Position X7

Ahmad:  Bail A and C has the same enargy.

A: The water wheel will spin faster.

e e posacssed 28 kolic energy when theyare suspended B: The water whebl will spin stower.
Chi Wei: _ Ball D will create a deeper dent than Ball C. C: The stream of water has more gravity acling on them. .
Dewi: Ball C will create the deepest dent. ) D: The stream of water possessed more gravitational potential enengy.
t i ' ';
' (1) Aonly

Which of the following statements isfare comect? & Rendadk

(1)  Devi only (3) Band D only

(2) Bemard and Devionly - (4) AandD only

(3) Ahmad and Chi Wei only
(4) Bemard and ChiWel only

{Go onto the next page)

(Go on to the next page)




20. mxhﬁamﬁumdﬂﬂsaﬂabﬁopﬁtﬁm .
G&IL& &tsh__-u:. lamrum—hu mﬁ‘lugamdphadgm 21. A circuit comprising identical bulhs, battaries and switches was set up as shown In the

Bk, St

‘Substance K undil it bolied.- Ry Bokors

Which ona of the foll e chance i ber
o awbslaﬂs P he in

)

Temperature (°C) W,.mm

70

mid\w dumudmmmm“mm-mm
up?

S1and 53 ’

51 and S4

$2 and 53

52 and 54

Aand B only
Aand D only
Band G only
Cand D only

(Go on to the next page)
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22, Aballwas pushed and i rolled from P 1o S along @ track as shown in the diagram - : - 8
Ahmad camriad cut an experiment by using a spring hung on a hook and some loads.
‘as shown in the diagram. He then added the loads, one at a ime and recorded the
of the spring ac 1gly. When the last load was added, the spring was
stretched beyond its etasticity Bmit.

mmmmm foad one at a ime and recorded the extension of the
‘accordingly. ;

hoak

Atwhich point P, Q, R or S did the ball have the highest speed?

e spring

2 a loads:

@ : - < [_gl_\
wa (PP

Which one of the following graphs comectly shows the exiension of the spring in
Ahmad's experment? g

ﬂ]m{ﬂlﬂ @ Extension (cm)
o~

*
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%mmh&ﬁgsﬁmuﬂmhhmmmaw
C wera mounted on ceramic stands WBMMmtﬂimu

shlcﬁlhwheab. Phntplnlwdlwﬂ one of th
the two i

WA i WB Magnet C

Which one of the following statements is comect?

(1) Pole D of Magnet C is a North Pole.

(2 maum-mm

@) M fic: o 1l d Magnet B to move continuously.

(%3] Wmmmmumwwhmmmm
Magnet B to move continuously.

hmts&:lﬂuﬁwﬁmdh
Five of them are

Bala set up the following experiment as shown
same size, A, B, C, D, E and F are stacked through a wooden rod. Five
magnets.

Diagram 1

The rings are then removed and stacked in another way through the wooden rod in-
2

wooden

O

A

Diagram 2
Which one of the following rings is most Fkely not a ring magnet?

{2 C
3 D
@ F




iEE 2= 11 « . . a2 i

= Th'.f : The o ¥ and metting points of four substances, W, ) 27, Moraini wanted to find out how the distanca between a light source and a pen would

Rl mmmduﬂmmwhm&-mmmmm
position W and the pen at posifion Z as shown in the diagram below and observed a
10 cm shadow on the screen.

_ Malting polnt (°C) | Bolllng point (*C) |

WO’WMW)WH“@M»‘“W

A 0°C

B: 45°C
C: 1o0°C
D: 150°C

: "She adjusted the light source and the pen at different positions and measured the
il e mama&wgg‘mhudwmmwm
observations.

“(2) Aand C only

{3) BandD.only X .
of
(4) A, CandD only ww&&mm«ummem the Fght

Position of light source Length of shadow (cm)

16

8

7

10

{Goon'to the next page} -
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28. Fmdﬂ&mphwsdma,s_cm Dﬁﬂamm . 29.  Ravicamied out an as in the foll dmammmm
hmmwimtkhuhmmmmmﬁaﬂmhmmm mmmmhudmﬂmmmmmm

A 8 T c
The materials were then used in the folowing set up as shown in the diagram bescw:

=
0 T
& A few students made some based on the exg .

torch ...
A B Cc D tomen AlAE  The water in the cup must be hot.
Belle:  There will be less water droplets on the metal tray overtime.
Chris: Tha volume of water in tha beaker will be more than the cup overtime..
Doris:  There is a change of state for water as the water droplets drip into the
beaker.
Based on the observations abowe, which of the following could Materials
mns‘::ras-ﬂ e ARG VWhich of the statement(s} made by the students isfare correct?
A B 5] D (1 AiAi
[€)] wood . | clearplastc | clearplasic |  copper | (2) AlAiand Belle
- 5 P fash 7 i
wood clearplastc |  copper | cleargiass | (3) Chris and Doris

(4) - clear glass clear plastic wood copper (4} Belle and Doris

X {Gumb&anm?m)
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The graph below shows the level of carbon monaxide alang Shenton Way 2t different -
times of the day. o

Which one of the following actions will result in a reduction in the level of carbon
monoxide

O]
(=)
@
)

along Shenton Way?

Placing more traffic light junctions along the road,
Widening Shenton Way to allow more lanes for cars to travel.
Encouraging commuters to use public transport instead of driving.
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Booklet A

This booklet consists of 8 printed pages including this page.

Fu-qunsﬁons31h3? mﬁaynw in the The number of marks
s shown ir question.

[

[ ]ai&naﬂnfaad-:qtmﬁnorm
[20 marks]

31.  Flamingos spend a lot of time looking for food in culdu:dsfwmvm@er

mmmd‘msa
s " wmmmmwmmmwm

(@)  Explain why the flamingo tucks its leg under its body when It s in water. [ami

{b) mmmmmamwmmmmm

mmmwmr«mmmauﬂ R

Basedmmnmmowmmu adaptation that enh
the flamingo’s ability to ook for food, (1]

2

(Go on to the next page)
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32, mmwmmaummﬁmmw
organisms in a forest in Britain.

/mﬂ”mm)\
' red squimel __grey squirel

e

Red squirrels are native to the forests of Britain but American grey squimels are
introduced to Britain.

(a) mmmmm;mnhuﬁhwmhmm
poputation from introduced.,

[m]

What is the likely agent for paliination? Give a reason for your answer. [1m]

Describe how the pollen grains are transferred from the anther to the stigma. [1m]

Assuming the agent of pollination remains the same, how would the process of
pollination be affected if the petals of the flower are cul off7 [im])

{c) mmtaummhmmmmﬂmhma
the foxes? [1m}

{Bo on to the next page)
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]
. 2 35. The fennec and anclic foxes have spedial
34. MrSingh set up an experiment as shown in the diagram below. He placed a water snai Wwwmmmbﬁ‘uhm Rehdat
of similar size in each test tube. Then he put the same amount of water plant in test-
fubes A and C. Test-tubes A and B were lefl near the window exposed to sunlight while
testiubes C and D were kept in a black box.

A

Fennec fox in desert Arctic fox In polar region

(a) memmammwmwmmmwmmm
body In thsir resp i

2 "
thelr

In which test-tube will the water snail survive the longest? Explain your answer.  [2m]

/ change the colour of their fur with the seasons. In winter, they are
white while in the summer, they change to brown. How does this structural
survive?

adaptation help the arctic fox to [2m]
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37. Thadiagram below shows three different types of cells.

6. mmm&mmwmhmﬁmmmaw
device. He continued skipping for some time before stopping. He walked briskly to

cool down. After that, mmﬁmmmmmmhmﬂum

pulse rate.

Pulse rate (beats/min)

ool TPl N 8
{ ‘\9 x Celi X
NGE F

(a) Classify Cell X, ¥ and Z in the chart given below. [im]

_y Time (min} Pilant Gell

Answer the following questions based on the graph above. :

(a) I David was skipping between points A and B, suggest a reason for the increase
of his pulse rate. [1m]

(o) mmmmmmwmmm [1m]

e - — .

(< Mdmﬂhmlﬂhﬂmﬁunmmhﬂ Explain your answer.  [1m]

(c) Whatis David's pulse rate at rest? Explain why.




2

a8, mmmm;p&smwﬁa m*mm
mhﬂmmhmmimmhmhp& mﬂ'ﬂx;nd

METHODIST GIRLS’ SCHOOL

PRELIMINARY EXAMINATION 2014 :
PRIMARY 6 : e
SCIENCE —T— T

{a) |nmmmwmuwmmemu

BOOKLET B2 plle was driven into the ground. [2m]
Total Time for Booklets A and B: 1 hour 45 minutes
INSTRUCTIONS TO CANDIDATES
O energy (). energy
Follow all instructions carefully. (pile hammer moving upwards) (raised pile hammer)
Answer all questions. ;
Write your answers in this booklet.
() energy + -
Name: - ( ) - elrﬂgyf Gy 0000 . enemgy
Class: Primary6.___ enargy (falling pile hammer)
_ (in the driven piles )

Date: 28 August 2014

m::uxwmmmu.m clion project, Mr Rajan ds to
project as soon as possible. What should he do ol
: to drive fhe piles into the

mmmasmmmmmm
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38. mwﬂummwmwnhumm._mmmwm
«core with cofis are fixed In their posiions

40. I&Tenobsamdlﬁhmeﬂ_hdm-unrvedha with
The cup sleeve is made of jagged “Mad:um
Mamhumm

Explaln clearly how the cup sleeve enablad Mr Tan to hold a cup of hot drink
comfortably. . [2m]

(a) Explain what will happen when the power supply is switched on? 2ml

Without changing the lron Mm«wM“Mhnﬂh _— . 2 oY
the set up in order to ir ding on the spring [1m]

3

(Go oni to the next page)



Mﬂ@aaﬂmt@m shown in ith below. Similar
balioons were Mmmmuwnmsmnmm
over the mouth of the bottie.

Ten minutes later, MWMhWhMBMMMW
ﬂﬂmbhmhmﬁ. =

aom
Set-up A e
e
wox
{a) Explain why the balloon in set-up B b Inflated than the ballk in set- awn
up A7 - [2m] o
oo
anas
- r nozs
(b) Wihiat is the purposo of Set-up A? i [m] o Veor

. (G0 on to the next page)
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43. May set up an elsctrical clrcuit s shown in Diagram 1. The three objecis, A Band G
were made of different materials. She noticed that when she tumed on two switches at
the same fime, only some bulbs wera lighted up,

5|

Diagram 1
The table below the bination of that were tumed on and the
bulbs that were lighted up respectively.
Switches turned on Bulbs fightsd up
51,82 B1, B4
s2,83 B1,B2

(ﬁ:} Which two out of the three objects, A, B and C are conductors of slectricity? [1m]

-

) ‘wanted to place a buzzer in the circuit so that when she closes switches S2.

May
and 83, the buzzer will ring. In Diagram mmm an" X" to show

May should place the

buzzer.

mwhhﬂumm‘wn ate if the distance between the
mﬂmmmmmmumi?rmum

mmmuwuéﬁouhhmmwm the distance

betweon the material and the fight source each tima.

P—material to be
tested
dcm

Jason performed the experiment wsing Material W, X, ¥ and Z and recorded his
cbsarvations in a table shown below.

Amount of light reflected (L)

Material W

Material Y

Material Z

280

150

170

180

100

140

120

o yx)y
x

100

7O

torch to the light sensor.

. d the an
conducted a fair test. Explain why.

above, mmmwmhmdmm?ﬁm
m]

dark box. His teacher told him that
[1m]




Other conducting the expediment In a dark box s mentioned in (b), nama 2
@Mmum&hwﬁhmbmaﬁm [1m]

[

Basod recordings-given in the table abowe, which material would be the most
0 aﬂﬁmlr‘::ﬂu-aﬂwﬂ&aumhwm. [im]
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Zl)a)mfﬂﬂmshapairmﬂdlisapoormﬂdmﬂheatardmﬂleleg
tucked under its body loses heat slower. g

b)Their long necks enable them to stick their head deep in the water to
search for food.

32)a)




32)b)The grey squirrel competes with the red squirrels for food this reduces
the amount of food for the squirrel, therefore the decrease in its population.

c)As the squirrels eat the pine nuts from pine trees, the population of the
squirrels will decrease when the pine trees are cut and the fox preys on the
squirrels therefore the fox population will also decrease.

33)a)The likely agent is by insects. As the flower has nectar.-

b)Insects will be attracted by the colour of the flower and its nectar, when
the insect goes onto the flower, it will get pollen grains on its body,then
transferring the pollen grains onto the stigma.

c)Cutting the petals will not affect pollination.

34)A. In A, there is a plant which can provide oxygen for the water snail takes
in carbon dioxide. The plant is exposed to sunlight, thus it can make food and
give oxygen for the water snail.

35)a)The ears of the Fennec fox are large as in the desert, it is very hot and the
large ears help to red ease the heat with its large exposed surface area. The
artic fox has small ears have smaller.surface area to reduce heat loss as in the
polar region.

b)This enable it to camouflage better with its surroundings to prevent
being spotted by prey easily. As in the winter, their surmoundings are white.
Hence, their fur is white to match the surrounding. In summer, its
surroundings are brown. Hence its fur is brown tnhlenclln with its
surroundings.

36)a)He could have slapped more quickly.
b)C. After point C, his pulse rate decreased. This sh that he pped
doing vigorous activities and rested for a while.

©)80 beats per minute. As when his purse rate b 80 b per minute,
it remained constant.
37)a)Plant Cell Animal Cell
Cell X Cell Y

b)As only plant cells have cell walls and cell xanthqul-nw:oell
membranes. Animal cells do not have cell wall and Y is the only one without
one. .
c)Z. Onions grow underground where sunlight cannot reach. Thus, there is
no read for the onion to have chloroplast to make food. Cell Z, does not have
chloroplast either. Therefore, Zis likely to be taken from an onion.

38)a)i)Kinetic ii)Gravitational Potential iii)Kinetic
iv)Kinetic, Heat
b)He should raise the pclehammerlﬂghuandlhandﬂveulapﬂsh.

nside the botte of set-up B lostheattot! . ubes, thus

" e ting taking up less in the bottle, the surrou ircame in

thmu’ghﬂiemouﬂlntfﬂlehnlﬂztaldngupﬂlerﬂnamg causing the
balloon to inflate.

b)Set-up A acts as a control to confirm that the changes . as due to the ice
cubes and nothing else.

42)a)Carbon dioxide is a gr ‘effect, g house effect takes place
wh-gnheatfrumﬂmstmkhawedoneamhyﬁmcaﬂnndmdem
increase the global tem

b)Reforestation will increase the number of trees, that takes in more
carbon dioxide in the air, during photosynthesis. Carbon dioxide isa
greeﬂlmmegas,andsolsshmmuﬂbeu pped in the atmosphe

43)a)A,C
b)

I\s1




b)He ensured that light from the surroundings would not affect the results.

€)The thickness of the materials and the position of the light sensor.

d)Material X. As it reflected the most of light and safety vest need to reflect
light. )




